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500L 7
LPG 953, 729 3, 682 0 6, 362, 981 20, 969 0
PG 63,570 28 0 634, 839 861 0
LG 33, 862 52 0 389, 357 400 0
AG 4, 405 0 0 27,513 6, 000 0
LT 2,464 1,080 0 23,292 8, 654 0
LNGV 0 0 0 0 0 0
tnL 0 0 0 0
(LDH 0 0 0 0
CHGGV 179 684 0 1,099 1,984 0
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EREsSsst | 1058458 552 | of ___ 7.439.811f ¢ 38,955( _________} 0
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Bk o R —— 1,063,984 r.418,766 |
XETERAE (%) 95.9

500L LA £ 1000L 5k i
LPG 0 0 3 1
PG 170 0 3,839 0
LG 328 14 4,605 3. 449
LT 0 0 0 0
nL 0 0
(LDH 0 0
CHGGY 0 0 0 0
Z Dt 6 3 47 3
aEgast | 1) N ] I [N ! E ] I
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wEgas [ 7 T R e ]
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1000LELE
LPG 1, 361 537 23 9,440 4,387 525
PG 0 0 0 12 0 0
LG 43 55 0 1,465 1,273 29
LT 46 6 4 526 92 il
wnL 1 2
(LDH 1 2
CHGGV 0 0 0 0 0 0
ZDfth 0 0 0 12 64 4
FEREgSt | __ 1480 6oy ____ _..2znp | mosssy 580 ¢ 721 I
ETEFE At (%) 91.2 106.2 110.0
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HEERALE (h) 0.2
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